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TABLE 3.4 ■ Some Common Polyatomic Ions
N a m e

A c e t a t e

F o r m u l a

C2H3O2-

C a r b o n a t e

Hydrogen carbonate
(or bicarbonate)

H C O :

Hydroxide O H

N i t r i t e N O :

N i t r a t e

C h r o m a t e -

N O -

pirhrnmatg^ — ^ 0 ^ 0 7

Phosphate POa^-

H^drogQn phosphate - tPO:

Dil^y-dioyuii pliuspl'ule H^PQr

A m m o n i u m NHa^

N a m e

Hypochlorite

F o r m u l a

■G \ Q ^
J 0*̂^

O h i o r i t e ■CIQẑ

O i i o f a i e •OQr

P e r c h l o r a t e CIO.

PuiiiiaiiganuLe-

S u l fi t e s o , 2 -

44ydfogen sulfite (or bisulfito) 44SO-

Su l fa te SOa^-

-t'fc

- c\ix C ' grtpitu ̂
i4yelroyuii Jiulfule (01 bi^ulfate) t m

Cyanide C N

P e r o y i H e

9 2020 Pearso i ' Eauca tk i r, i nc .

the number of oxygen atoms in the ion. If there are only two ions in the series, the one
with more oxygen atoms has the ending -ate and the one with fewer has the ending -itc.
For example, NOs" is nitrate and NO2'' is nitrite.

NO3-
N O 7 "

n i t r u / e

n i t r / f r

If there are more than two ions in the series, then the prefixes hypo-, meaning less than,
and per-, meaning more than, are used. So CIO" is hypochlorite (less o.xygen than chlo
rite), and CIO4 ~ is perchlorate (more oxygen than chlorate).

C I O h y p o c h l o r i t e
Ci02~ ch lor i te
C I O 3 " c h i o r r t t c
C104~ perchlorate
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